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(3) If Alfred is a bachelor, he must be unmarried. (Lyons 1977a:788)
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% 312, Lyons (1977b: 791)i%, Epistemic necessity is intuitively closer to
alethic necessity than deontic necessity is. & @< T\ 5, HAFED deontic
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We are given that one of the sides of the rectangle has length 3. This implies
that either x or x+6 equals 3. If x+6 equals 3, then x must be—3, which is
impossible since a length cannot be negative. (J. Kolby, GRE Prep Course)
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(6) If a card has a vowel on one side then it must have an even number on the
other side.
(7) All cards with a vowel have an even number on the other.
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(8) If a person is drinking beer, then that person must be over 21.
(9) a. To drink alcohol, one must be at least 21 years old.
(B. H. Kantowitz et al., Experimental Psychology)
b. Only those over 21 are allowed to drink beer.
(L. Barrett, R. Dunbar and J. Lycett, Human Evolutionary Psychology)
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necessary condition & L TR TE 52 &N 05D,

(10) To be eligible for appointment, a person must be at least 18 years of age.
[Translation:] A person is ineligible unless the person prosses the
characteristic of being at least 18 years of age.
(R. K. Neumann and J. L. Entrikin, Legal Drafting by Design)
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